
Toutes les Opérations (B)Calculez chaque somme, différence, produit, ou quotient.1 × 1 = 15 - 6 = 10 × 9 = 9 × 7 =15 - 4 = 10 - 6 = 12 + 9 = 7 + 3 =5 + 6 = 10 × 12 = 8 + 2 = 10 × 8 =45 ÷ 9 = 8 × 12 = 11 ÷ 1 = 5 - 1 =10 × 8 = 11 - 10 = 2 × 12 = 4 × 11 =13 - 11 = 6 + 8 = 32 ÷ 4 = 6 - 5 =5 × 7 = 8 + 1 = 12 - 6 = 15 - 7 =3 × 6 = 10 × 8 = 10 × 5 = 16 ÷ 8 =9 × 5 = 3 + 1 = 2 × 8 = 12 + 10 =72 ÷ 9 = 8 + 12 = 3 + 11 = 8 ÷ 4 =40 ÷ 8 = 11 - 6 = 14 - 11 = 12 × 8 =4 + 7 = 9 × 1 = 19 - 9 = 17 - 12 =4 + 6 = 4 + 9 = 8 - 4 = 21 - 9 =21 ÷ 3 = 12 - 10 = 18 - 6 = 24 ÷ 12 =10 + 3 = 14 - 11 = 66 ÷ 11 = 9 - 6 =84 ÷ 12 = 5 + 1 = 4 + 11 = 60 ÷ 6 =10 + 2 = 77 ÷ 7 = 8 - 2 = 8 - 4 =6 × 1 = 8 + 4 = 1 × 8 = 10 ÷ 1 =5 × 12 = 15 - 12 = 21 ÷ 7 = 19 - 10 =30 ÷ 5 = 15 - 3 = 16 - 5 = 13 - 3 =11 + 11 = 12 + 3 = 12 × 11 = 5 × 4 =9 × 3 = 21 - 12 = 11 × 1 = 3 × 4 =11 + 12 = 6 - 5 = 7 × 11 = 14 - 9 =12 - 6 = 17 - 10 = 17 - 9 = 12 × 3 =7 × 5 = 54 ÷ 6 = 3 + 11 = 4 × 4 =Mathslibres.com



Toutes les Opérations (B) RéponsesCalculez chaque somme, différence, produit, ou quotient.1 × 1 = 1 15 - 6 = 9 10 × 9 = 90 9 × 7 = 6315 - 4 = 11 10 - 6 = 4 12 + 9 = 21 7 + 3 = 105 + 6 = 11 10 × 12 = 120 8 + 2 = 10 10 × 8 = 8045 ÷ 9 = 5 8 × 12 = 96 11 ÷ 1 = 11 5 - 1 = 410 × 8 = 80 11 - 10 = 1 2 × 12 = 24 4 × 11 = 4413 - 11 = 2 6 + 8 = 14 32 ÷ 4 = 8 6 - 5 = 15 × 7 = 35 8 + 1 = 9 12 - 6 = 6 15 - 7 = 83 × 6 = 18 10 × 8 = 80 10 × 5 = 50 16 ÷ 8 = 29 × 5 = 45 3 + 1 = 4 2 × 8 = 16 12 + 10 = 2272 ÷ 9 = 8 8 + 12 = 20 3 + 11 = 14 8 ÷ 4 = 240 ÷ 8 = 5 11 - 6 = 5 14 - 11 = 3 12 × 8 = 964 + 7 = 11 9 × 1 = 9 19 - 9 = 10 17 - 12 = 54 + 6 = 10 4 + 9 = 13 8 - 4 = 4 21 - 9 = 1221 ÷ 3 = 7 12 - 10 = 2 18 - 6 = 12 24 ÷ 12 = 210 + 3 = 13 14 - 11 = 3 66 ÷ 11 = 6 9 - 6 = 384 ÷ 12 = 7 5 + 1 = 6 4 + 11 = 15 60 ÷ 6 = 1010 + 2 = 12 77 ÷ 7 = 11 8 - 2 = 6 8 - 4 = 46 × 1 = 6 8 + 4 = 12 1 × 8 = 8 10 ÷ 1 = 105 × 12 = 60 15 - 12 = 3 21 ÷ 7 = 3 19 - 10 = 930 ÷ 5 = 6 15 - 3 = 12 16 - 5 = 11 13 - 3 = 1011 + 11 = 22 12 + 3 = 15 12 × 11 = 132 5 × 4 = 209 × 3 = 27 21 - 12 = 9 11 × 1 = 11 3 × 4 = 1211 + 12 = 23 6 - 5 = 1 7 × 11 = 77 14 - 9 = 512 - 6 = 6 17 - 10 = 7 17 - 9 = 8 12 × 3 = 367 × 5 = 35 54 ÷ 6 = 9 3 + 11 = 14 4 × 4 = 16Mathslibres.com


